CHAPTER I. GRAMMAR STUDY

PART 1

Имя существительное (The Noun)


Существительные бывают исчисляемыми (countable) и неисчисляемыми (uncountable).

1. Исчисляемые существительные используются для предметов, которые можно сосчитать. Они имеют форму множественного числа (the plural form) и могут быть использованы с определенным («the») или неопределенным (a/an) артиклями.

2. Неисчисляемые существительные используются для обозначения предметов, которые нельзя сосчитать как отдельные единицы (вещества и материалы: sugar, beer, wood, iron etc.), как собирательные существительные (furniture, rubbish, money etc.) и абстрактные существительные (love, hope, nonsense, politeness etc.). Эти существительные обычно имеют только форму единственного числа (the singular form) и не могут быть использованы с неопределённым артиклем (a/an). Образование множественного числа существительных смотри в табл. 1.
3. В английском языке различаются два падежа имени существительного: общий падеж (the Common Case) и притяжательный падеж (the Possessive Case).

4. Общий падеж — это падеж с нулевым окончанием, т.е. падеж, в котором нет специального окончания. Форма общего падежа самостоятельно, без помощи дополнительных средств, не может передавать отношений имени существительного к другим словам в предложении. Такими дополнительными средствами являются порядок слов в предложении и предлоги.

Сравните:

	The professor spoke of great Russian scientists.

Students greeted the professor with loud applause.

The lecture of the professor was listened to with great attention.
	Профессор говорил о великих русских ученых.

Студенты приветствовали профессора громкими аплодисментами.

Лекцию профессора слушали с большим вниманием.


5. Притяжательный падеж выражает принадлежность и соответствует в русском языке родительному падежу в том случае, когда он выражает принадлежность. В предложении имя существительное в форме притяжательного падежа выполняет функцию определения другого существительного и занимает место перед определяемым существительным.

Местоимение (The Pronoun)


Местоимения заменяют существительные. Наиболее важными типами местоимений являются:

1)  личные местоимения (табл. 2);

2)  притяжательные местоимения (см. табл. 2);

3)  указательные местоимения (табл. 3);

4)  вопросительные и относительные местоимения (табл. 4);

5)  неопределенные местоимения (рис. 2, табл. 7),

6)  возвратные и усилительные местоимения: myself, yourself, himself,
     herself, itself, ourselves, themselves, each other, one other.

Особые трудности (Special Difficulties)

Многозначность One (табл. 6)


Значение слова one устанавливают в зависимости от следующих признаков:

1. One без артикля или другого определителя, стоящее перед личной формой глагола, является формальным подлежащим и указывает на то, что данное предложение является неопределённо-личным. В этом случае на русский язык one не переводится, а глагол в личной форме переводят обычно во 2-м лице единственного числа или в 3-м лице множественного числа:

	One never knows what may happen.
	Никогда не знаешь, что может случиться.



В этом случае за one могут следовать глаголы can, may (можно), must, have to (нужно), should, ought (следует).

	On a political map one can see the boundaries of the countries.
	На политической карте можно увидеть границы государств.


2. Если перед словом one стоит артикль (the one) либо другие определители и определения (this one, the black one) или если у one есть суффикс множественного числа -s (the ones), оно выступает заменителем ранее упомянутого существительного. В этом случае при переводе на русский язык one обычно опускают или переводят соответствующим существительным.

	This room is better than that one.
	Эта комната лучше той.


3. Если слово one стоит перед существительным, оно выступает в роли числительного — один.

	One day is not enough.
	Одного дня недостаточно.


Многозначность IT (табл. 5)

1. Если местоимение it выступает в предложении в функции подлежащего и его можно отнести к ранее упомянутому существительному, it означает оно (он, она).

	He came to the window.

It was open.
	Он подошел к окну.

Оно было открыто.


2. Если местоимение it в функции подлежащего можно отнести ко всему предыдущему предложению, it означает это.

	We are transporting coal over large distances. It is an expensive business.
	Мы перевозим уголь на большие расстояния. Это дорогостоящее дело.


3. Если местоимение it в функции подлежащего нельзя отнести к ранее упомянутому существительному, оно может являться формальным подлежащим безличного предложения. В этом случае it на русский язык не переводится.

	It is reported that the experiments are going on successfully.
	Сообщается, что опыты проходят успешно.


4. Местоимение it может использоваться в конструкции типа «It is…that». В этом случае перевод начинается словами «именно, как раз, только».

	It was he who helped me.
	Именно он помог мне.


Имя прилагательное (The adjective)


Имена прилагательные в английском языке не изменяются по родам, числам и падежам.

Имена прилагательные в английском языке изменяются только по степеням сравнения. Они имеют три степени сравнения: положительную (the Positive Degree), сравнительную (the Comparative Degree) и превосходную (the Superlative Degree).


Сравнительная и превосходная степени в английском языке образуются двумя способами: a) посредством прибавления суффиксов или 
b) с помощью специальных слов.


Образование степеней сравнения прилагательных смотри в табл. 8, усиление степеней сравнения прилагательных и сравнительные конструкции смотри в табл. 9 и 10.

PART 2

Таблица 1

Образование множественного числа существительных

	Единственное число
	Множественное число
	Примечание

	A desk

A room

A box

A story

A day

A knife

A loaf

A tomato

A zoo
	Desks [s]

Rooms [z]

Boxes [ız]

Stories [z]

Days [z]

Knives [naıvz]

Loaves [louvz]

Tomatoes
Zoos
	После глухих согласных -s произносится [s]

После гласных и звонких согласных -s произносится [z]

После шипящих и свистящих -es произносится [ız]

При прибавлении -s -y в конце слова после согласных переходит в -I
После гласных изменений не происходит

При прибавлении -s конечные -f, -fe переходят в -ve
-o после согласной

-o после гласной


Особые случаи образования множественного числа
имен существительных

	Единственное число
	Множественное число

	Man [mæn] мужчина, человек

Woman [´wum∂n] женщина

Foot [fu:t] фут; ступня
Tooth [tu:θ] зуб

Child [t∫aıld] ребенок
	Men [men] мужчины, люди

Women [´wımın] женщины

Feet [fı:t] футы, ступни

Teeth [tı:θ] зубы

Children [´t∫ıldr∂n] дети


Формы существительных латинского и греческого происхождения

	Analysis [∂´næl∂sıs] анализ

Basis [´beısıs] базис, основа

Crisis [´kraısıs] кризис

Datum [´deıt∂m] данная величина

Phenomenon [fı´n mın∂n] явление

Index указатель
	Analyses [∂´næl∂si:z] анализы

Bases [´beısi:z] основы

Crises [´kraısi:z] кризисы

Data [´deıt∂] данные, данная величина

Phenomena [fı´n mın∂] явления

Indexes [´ınd∂ksız] индексы

Indices [´ındısi:z] указатели


Существительные, имеющие одну форму
единственного и множественного числа

	Series [´sı∂ri:z] серия, ряд
Means средство, способ
	Series серии, ряды

Means средства, способы


Притяжательный падеж существительных

I. Образование


II. Употребление







Рис. 1

Таблица 2

Личные и притяжательные местоимения

	Число
	Лицо
	Личные местоимения
	Притяжательные местоимения

	
	
	Именительный падеж
	Объектный падеж
	I форма
	II форма

	
	
	Употребляется
в роли подлежащего
	Употребляется в роли дополнения
	Употребляется
 перед существительными
	Употребляется самостоятельно без существительного

	Единственное
	1-е

2-е

3-е
	I           я

You      ты, вы

He        он

She      она

It          он, она, оно

(обозначает неодушевленные предметы, которые в англ. языке не имеют рода)
	Me      меня, мне

You    тебя, тебе,

          вас, вам

Him    его, ему

Her     ее, ей

It         его, ему,

           ее, ей (имеются в виду неодушевленные предметы)


	My                      моя
Your                   твоя,

            room      ваша          ком-

His                     его             ната

Her                     ее

Its                       его, ее

(для неодушевленных предметов)
	
                    mine

                    yours

This              his

             is     hers

room            its

	Множественное
	1-е

2-е

3-е
	We      мы

You     вы

They   они
	Us         нам, нас

You       вас, вам

Them    их, им

(обозначает и одушевленные, и неодушевленные предметы)


	Our                      наша       ком-

Your         room   ваша        на-

Their                    их            та

(для одушевленных и неодушевленных предметов)
	This

            is       ours

room              yours

                      theirs






Указательные местоимения this (these), that (those)

	Число
	
	Определение
	Подлежащее
	Cлово-заменитель

	Единственное
	            этот

This      эта

             это
	This book is mine.

Эта книга моя.
	This is my book.

Это моя книга.
	

	
	             тот

That      та

              то
	That book is his.

Та книга его.
	That is his book.

Это его книга
	During the Great Patriotic War there were several examples of self-sacrifice similar to that performed centuries ago by Ivan Susanin.

Во время Великой Отечественной войны было много примеров подвигов, подобных подвигу Сусанина, совершенному несколько веков назад.

	Множественное
	These
эти (это)
	These books are mine.

Эти книги — мои.
	These are my books.

Это мои книги.
	The country is rich in mineral resources. However these are in the hands of foreign corporations.

Страна богата полезными ископаемыми. Однако они находятся в руках иностранных монополий.

	
	Those
              те

(эти)

              то
	Those books are his.

Те книги — его.
	Those are his books.

Это его книги.
	The successes of the industry stand out even more clearly when comparing its growth rates with those of other countries.

Успехи промышленности становятся даже более очевидными, если сравнить темпы ее роста с темпами роста промышленности других стран.


Таблица 4

Вопросительные и относительные местоимения

	Вопросительные местоимения
	Относительные местоимения

	WHO
	translated this article?
	The student
	WHO
	translated this article…

	КТО
	перевел эту статью?
	Студент,
	КОТОРЫЙ
	перевёл эту статью…

	WHOSE
	research is that?
	The scientist
	WHOSE
	research is mentioned…

	ЧЬЕ
	это исследование?
	Ученый,
	ЧЬЕ
	исследование упоминается…

	WHOM
	will you deliver your lecture to?
	The students to
	WHOM
	you will deliver your lecture…

	КОМУ
	вы прочитаете лекцию?
	Студенты,
	КОТОРЫМ
	Вы прочитаете лекцию…

	WHAT
	has happened?
	Nobody knows
	WHAT
	has happened.

	ЧТО
	случилось?
	Никто не знает.
	ЧТО
	случилось.

	WHAT
	are the mineral resources of the country?
	Experts did not know
	WHAT
	the mineral resources of this country were.

	КАКОВЫ
	полезные ископаемые страны?
	Эксперты не знали,
	КАКОВЫ
	полезные ископаемые этой страны.

	WHAT
	help will you give us?
	I will give you
	WHAT
	help I can

	КАКУЮ
	помощь вы нам окажете?
	Я окажу вам ту помощь.
	КАКУЮ
	только смогу оказать.

	WHICH
	of the articles interests you most?
	The task
	WHICH
	the students carried out…

	КОТОРАЯ (КАКАЯ)
	из статей интересует вас больше всего?
	Задание,
	КОТОРОЕ
	выполнили студенты…

	
	
	Lomonosov was the greatest scientist
	THAT
	the world has ever know.

	
	
	Ломоносов был величайшим учёным,
	КОТОРОГО
	когда-либо знал мир.


Местоимения MUCH, MANY, FEW, LITTLE









Рис. 2



Таблица 5

Местоимение IT
	1. Личное (он, она, оно — заменяет неодушевленное существительное)
	1. Though Pinsk is an industrial city it does not know smog.

Хотя Пинск — промышленный город, он не знает смога.

	2. Указательное (это)
	2. In the North we are building everything that people need for normal life and work. It is an expensive business and technically very complicated.

На севере мы строим все, что необходимо людям для нормальной жизни и работы. Это дорогостоящее и технически очень сложное дело.

	3. Безличное (не переводится)
	3. It is important to note that in Belarus shorter hours do not mean less wages.

Важно отметить, что в Белоруссии более короткая рабочая неделя не означает снижения заработной платы.

	4. Усилительное (It is … that — именно, как раз, только)
	4. It is the peace policy of our republic that has such an influence on the peaceful international cooperation.

Именно миролюбивая политика нашей республики оказывает такое влияние на осуществление мирного международного сотрудничества.


   ONE                Таблица 6

	1. Неопределенно-личное местоимение (не переводится)
	one + may, can можно, must, ought нужно, should следует.

One can spend days in the Hermitage in St Petersburg.

Можно провести много дней в Эрмитаже в Санкт-Петербурге.

It was in agriculture that one could see the extreme backwardness of that country.

Именно в сельском хозяйстве проявлялась исключительная отсталость той страны.

	2. Слово-заменитель (переводится соответствующим существительным или не переводится вообще)
	The efficiency of the new method is much higher than the efficiency of the old one. It differs greatly from the one used at our enterprise.

Эффективность нового метода значительно выше, чем эффективность старого метода. Он значительно отличается от метода, применяемого на нашем предприятии.

	3. Числительное один
	One swallow does not make a summer.

Одна ласточка весны не делает. (Пословица)


                                                  Местоимения SOME, ANY, NO и их производные                                            Таблица 7
	
	Some, any, no
	+ thing
(неодуш.)
	+body       +one

(о человеке)
	+where
	Примеры

	Утвердительные

предложения
	SOME
Некоторый,

какой-то,

какой-нибудь,

несколько
	Something
Что-то,

что-нибудь
	Somebody, someone
Кто-то, кто-нибудь
	Somewhere
Где-то, где-нибудь, куда-то, куда-нибудь
	They sent some letters to foreign firms yesterday.

Они отправили несколько писем иностранным фирмам вчера.



	
	ANY
Всякий,

любой
	Anything

Все 
	Anybody, anyone

Всякий, все
	Anywhere
Везде, повсюду
	The CMEA is open to any country ready to accept the aims and principles of the organization.

Вступление в СЭВ возможно для любой страны, готовой принять цели и принципы организации.



	Вопроситель-ные предложения
	ANY
Какой-нибудь
	Anything
Что-то,

что-нибудь
	Anybody, anyone
Кто-то, кто-нибудь
	Anywhere
Где-то, куда-то, где-нибудь, куда-нибудь


	Does the country buy any equipment from foreign firms?

Покупает ли эта страна оборудование у иностранных фирм?



	Отрицатель-ные предложения
	NO = not any
Никакой,

ни один


	Nothing = not…

anything

Ничто, ничего
	Nobody = no one,

Not…

anybody

Никто
	Nowhere = not…

anywhere

Нигде, никуда
	No city of the world can boast of the purity of its atmosphere as Minsk.

Ни один город мира не может похвастаться такой чистотой атмосферы, как Минск.






Таблица 8

Степени сравнения прилагательных и наречий

	Прилагательные
	Положительная степень
	Сравнительная степень
	Превосходная степень

	1. Однослож-ные

2. Двухслож-ные на -er, -y, -ow, -le
	Short — короткий

Early — ранний, рано
	Shorter — короче (более короткий)

Earlier — более ранний, раньше
	(the) shortest — кратчайший, самый короткий

(the) earliest — самый ранний

	Многослож-ные
	Important — важный
	More important — важнее (более важный)
	(the) most important — важнейший, самый важный

	Исключения
	Much — много
Many

Little — мало
Good — хороший
Well — хорошо

Bad — плохой

Badly — плохо
	More — больше

Less — меньше

Better — лучший

Worse — худший, хуже
	(the) most — наибольший, больше всего

(the) least — наименьший, меньше всего

(the) best — самый лучший, (наи)лучший, лучше всего (всех)

(the) worst — самый плохой, (наи)худший, хуже всего (всех)


Таблица 9

Усиление степеней сравнения прилагательных


Таблица 10
Сравнительные конструкции

	Конструкция
	Перевод
	Употребление
	Пример

	С союзом
as … as
	Такой же …как, так же … как
	В утвердительных предложениях
	To judge by the number of people for whom it is the staple crop, rice is as important a food crop as wheat.

Eсли учитывать количество потребителей риса как основного сельскохозяйственного продукта, то он является таким же важным, как пшеница.

	С союзом
not so …as
	Не такой … как,

не так … как
	В отрицательных предложениях
	Old enterprises were usually not so spacious and well-equipped as new ones.

Cтарые предприятия обычно не были так просторны и хорошо оборудованы, как новые.

	С союзом

than
	Чем (может опускаться)
	После сравнительной степени 
	Rice, which is grown mainly on irrigated land, is a much more productive crop than wheat for certain regions.

Pис, который растет главным образам на поливных землях, — гораздо более производительная сельскохозяйственная культура для некоторых регионов, чем пшеница.

	The (bigger) … the (bigger)
	Чем … тем
	The + прилагательное (наречие) в сравнительной степени … + the + другое прилагательное (наречие) в сравнительной степени
	The bigger the plan of an enterprise the bigger the profit it gets.

Чем больше план предприятия, тем больше прибыль, которую оно получает.


ВАРИАНТ 1
Задание 1. Укажите номера предложений, в которых окончание «-s» является показателем: a) множественного числа имени существительного; b) притяжательного падежа имени существительного; c)  глагола в 3-м лице ед.числа Present Simple. 

           1. All Belarusian citizens are equal before the law, they enjoy equal   rights and equal duties.

2. The Belarus’s population is less than 10 million now.

   3.Their laboratory occupies a separate part of the building.
Задание 2. Укажите номера предложений, в которых указательные местоимения this, these, that, those  выступают как заместители ранее упомянутых существительных. Назовите эти существительные.
1. Natural rubber is of higher quality than that produced artificially.

2. These factors taken together ensure high production efficiency.

3. The pictures painted by Rembrant and those painted by Rubens have very little in common.

Задание 3. Укажите номера предложений, в которых встречаются сравнительные конструкции, имеющие значение: a) такой же, … как;

b) не такой, … как; с) чем; d) чем … тем.

1. On behalf of their nations the leaders of European countries, the United States and Canada declared in Helsinki in the summer of 1975 that their countries will encourage the expansion of trade on as broad a multilateral basis as possible.

2. The better a region is surveyed, the more reliable its potential deposits of raw materials and the better its economic prospects.

3. In Siberia highways are not so economically effective as a railway since motor transport over such long distances means vast fuel expenditure.

4. There is more water in Lake Baikal than in the Baltic Sea.

Задание 4.  Read the text. Then read the titles. Which of the following titles is the best?

a) Radio and Electronic Devices.

b) Radio Waves.

c) The Birth of Radio.

d) Radio and TV.

1. Today we don’t think twice when we turn on the radio, but when a 21-year-old Italian invented it over 100 years ago no one could believe their ears.

2. One day in 1895 in Bologna, Italy, an Italian engineer sent the world’s first radio signal. Using a simple radio transmitter and a receiver, he sent a signal from his attic room to his brother who was hidden in a field a kilometer away. 1 ____. The Italian government showed no interest in young Marconi’s invention, but his mother believed he had a good idea. So in February of the following year, she sent him to England to meet her cousin who was an important engineer. 2 ____.

3. In England this engineer and his cousin were joined by two other inventors. In 1897 he formed the Wireless Telegraph Company in London and started to transmit simple radio signals over long distances. In 1899 he sent the first wireless telegraph across the English Channel to France. 

3 ____.

4. He had always believed that radio waves could travel round the curve of the earth. By 1901 he had improved his radio system so much that on 12th December he astonished the world by sending the first radio signals across the Atlantic Ocean. 4 ____. His system was soon adopted by the British and Italian navies. From now on, his company had the monopoly of wireless communication and he became a multi-millionaire.

5. This engineer is one of the key figures of the twentieth century. He even recognized the military importance of radar and thought of the idea of sending radio signals out into space. When he died in 1937, wireless stations all over the world closed down for two minutes as a mark of respect. He made only one big mistake. 5 ____.

Задание 5. Read the text again. Choose the best sentence from the list below to complete each gap.

a) 
They were transmitted from Poldhu in Cornwall, and were received 3,520 kilometres away in St John’s, Newfoundland, using an aerial flown in the air by a kite.

b) 
When his brother received the signal he fired a gun.

c) 
He thought that television would never become popular.

d) 
This meant that ships were now able to send messages from ship to shore if they were in distress.

e) It was a journey that would change the world.

Задание 6. Choose the best answer to these questions according to the text.

1. Who invented the radio?

a) a French engineer,

b) an American engineer,

c) an Italian engineer.

2. What was the Italian government’s attitude towards this invention?

a) The Italian government was interested in this invention.

b) The Italian government didn’t believe that this invention was very useful.

c) The Italian government wasn’t interested in this invention.

3. Who helped this Italian engineer to continue his work?

a) American engineers,

b) His cousin and two other inventors,

c) Italian scientists.

4. Why was this invention so important for the British and Italian navies?

a) Because it was very cheap.

b) Because it helped the ships to send messages from ship to shore if they were in danger or difficulty.

c) Because they wanted to use it against the USA navy.

5. What was the only mistake made by the inventor?

a) He didn’t recognize the importance of radar.

b) He didn’t recognize the importance of telegraph.

c) He didn’t recognize the importance of television.

Задание 7. Translate paragraphs 2 and 3 into Russian.
ВАРИАНТ 2
Задание 1. Укажите номера предложений, в которых окончание «-s» является показателем: a) множественного числа имени существительного; b) притяжательного падежа имени существительного; c) глагола в 3-м лице ед.числа Present Simple.
1. One day in 1895 in Bologna, Italy, an Italian engineer sent the world’s first radio signal.

2. Electronics encompasses an exceptionally broad range of technology. 
     3. All citizens enjoy freedom of speech, that is to say they are free to voice their opinions on any matter at meetings, in the press, on the radio and TV.

Задание 2. Укажите номера предложений, в которых указательные местоимения this, these, that, those  выступают как заместители ранее упомянутых существительных. Назовите эти существительные.

1. Those are the lorries carrying our brothers to the mines.
2. There are no richer art museums in this country than these of St Petersburg.

3. The electric power output in our country cannot compare to that of pre-revolutionary Russia.

Задание 3. Укажите номера предложений, в которых встречаются сравнительные конструкции, имеющие значение: a) такой же, … как;

b) не такой, … как; с) чем; d) чем … тем.

1. After World War II Belarus had to build new industries, modernize plants and manufacture machines, as good as, and often superior to, those made in the West. 

2. Building density in cities is very high, and the greater the scale of urbanization, the greater the need for reliable, exhaustive geological information.

3. Mathematics is more important for technical students than many other subjects.

4. Dave isn’t such a good footballer as he used to be.

 Задание 4.
Read the text. Then read the titles. Which of the following titles is the best.

a) TV and Radio.

b) TV Companies.

c) TV and «University of the Air».

d) TV and Violence.

1. Watching television is one of the great British pastimes! Broadcasting in the United Kingdom is controlled by the British Broadcasting Corporation (BBC) and the Independent Broadcasting Authority (IBA). 1 ____.

2. National radio is controlled by the BBC, and listeners can choose between four stations. Radio 1 is a pop-music station with news and magazine-style programs. Radio 2 plays light music and reports on sport. 
3. 2 ____. There are many local stations, some private and some run by the BBC. Their programs consist mainly of music and local news.

4. The BBC has two TV channels. BBC 2 has more serious programs and news features. The IBA is responsible for looking after the regional independent TV companies who broadcast their own programs and those they have bought from other regions. There is a break for advertisements about every 15-20 minutes. 3 ____. In general, people think the programs offered on British television are of a very high standard. 4 ____.

5. TV and radio are also two of the main teaching channels used by the Open University. 5 ____. They also have to do without sleep as most of their programs are broadcast early in the morning or late at night!

6. New technology has made it possible for viewers to receive many more programs into their homes through satellite TV. The 1990s may well see many changes in British TV and radio.

Задание 5. Read the text again. Choose the best sentence from the list below to complete each gap.

a) Radio 3 plays classical music whilst Radio 4 has news programs, drama and general interest programs.

b) The BBC receives its income from the government, but the private companies controlled by the IBA earn money from advertising.

c) Some people, however, are becoming worried about the amount of violence on TV, and the effect this may have on young people.

d) This ‘university of the air’, allows many thousands of students to study at home for degrees they would never have obtained in the main educational system.

e) The most recent independent channel is called Channel 4 and it has more specialized programs than the main channels.

Задание 6. Choose the best answer to these questions according to the text.

1. Who is broadcasting in the United Kingdom controlled by?

a) It is controlled by the Prime Minister.

b) It is controlled by the BBC and the IBA.

c) It is controlled by the government.

2. Which station plays a lot of classical music?

a) Radio 1.

b) Radio 2.

c) Radio 3.

3. What is the IBA responsible for?

a) It is responsible for earning money from advertising.

b) It is responsible for looking after the regional independent TV companies.

c) It’s responsible for education.

4. What do people think about the programs offered on British television?

a) They think they are of a very high standard.

b) They think the programs leave much to be desired.

c) They think that there are few educational programs on British television.

5. Why is ‘university of the air’ so popular among the young people?

a) A lot of light music is played there.

b) This university gives them the opportunity to study at home.

c) It has news programs, drama and general interest programs.

Задание 7. Translate paragraphs 4,5 and 6 into Russian.

ВАРИАНТ 3
Задание 1. Укажите номера предложений, в которых окончание «-s» является показателем: a) множественного числа имени существительного; b) притяжательного падежа имени существительного; c) глагола в 3-м лице ед.числа Present Simple.
1. The Italian government showed no interest in young Marconi’s invention,

2. Scientists and engineers working in the nuclear industry have to cope with many complex problems.

3. According to the time-table, the train gets in at half past eight.

Задание 2. Укажите номера предложений, в которых указательные местоимения this, these, that, those  выступают как заместители ранее упомянутых существительных. Назовите эти существительные.

1. Consumption of bread and potatoes is decreasing steadily while that of sugar is increasing despite doctors’ recommendations.

   2. The new technologies that are being developed must be connected with traditional ones.
   3. These devices are more reliable than those designed in our laboratory.

Задание 3. Укажите номера предложений, в которых встречаются сравнительные конструкции, имеющие значение: a) такой же, … как;

b) не такой, … как; с) чем; d) чем … тем.

1.  Their operating system is considered by many people to be a better product than Microsoft’s.

2. The higher the voltage, the higher the electron velocity.

3.   His hands were as cold as ice.

4. These engines are not so powerful as those motors.                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                       
Задание 4. 
Read the text. Then read the titles. Which of the following titles is the best?

a) From the History of Mainframes.

b) From the History of Personal Computers.

c) From the History of Xerox Corporation.

d) From the History of Digital Research.

Задание 5. Read the text again. Choose the best sentence from the list below to complete each gap.


1. In 1952, a major computing company took a decision to get out of the business of making mainframe computers. They believed that there was only a market for four mainframes in the whole world. That company was IBM. 1____.


2. In 1980, IBM decided that there was a market for 250,000 PCs, so they set up a special team to develop the first IBM PC. It went on sale in 1981 and set a world-wide standard for IBM – compatibility which, over the next ten years, was only seriously challenged by one other company, Apple Computers. Since then, over seventy million PCs made by IBM and other manufactures have been sold. 2____.


3. The history of the multi-billion dollar PC industry has been one of mistakes. Xerox Corporation funded the initial research on personal computers in their Palo Alto Laboratory in California. However, the company failed to capitalize on this work, and the ideas that they put together went into the operating system developed for Apple’s computers. 3____.


4. The first IBM PC was developed using existing available electrical components. When IBM were looking for an operating system, they went initially to Digital Research, who were market leaders in command- based operating systems (4____). When the collaboration between IBM and Digital Research failed, IBM turned to Bill Gates to write their operating system.


5. Bill Gates founded Microsoft on the basis of the development of MS/DOS, the initial operating system for the IBM PC. Digital Research have continued to develop their operating system, DR/DOS, and it is considered by many people to be a better product than Microsoft’s. However, without an endorsement from IBM, it has become a minor player in the market. 5 ____

6. The cost of buying the hardware has come down considerably as the machines have become commodity items. Large companies are considering running major applications on PCs, something which, ten years ago, no one would have believed possible of a PC. In contrast, many computers in people’s homes are just used to play computer games.


7. The widespread availability of computers has in all probability changed the world forever. The microchip technology which made the PC possible has put chips not only into computers, but also into washing-machines and cars. Some books may never be published in paper form, but may only be made available as part of public databases. Networks of computers are already being used to make information available on a world-wide scale.

a) these are operating systems in which the users type in commands to perform a function.

b) Over this period, PCs have become commodity items.

c) Novell, the leaders in PC networking, now own Digital Research, so things may change.

d) The following year they reversed their decision.

e) This was a graphical interface: using a mouse, the user clicks on icons which represent the function to be performed.

Задание 6. Choose the best answer to these questions according to the text.

1. How many mainframes did IBM think it was possible to sell in 1952?

a) a hundred,

b) four,

c) 250,000.

2. Which company was IBM only contested by?

a) Xerox Corporation,

b) Digital Research,

c) Apple Computers.

3. Who paid for the first research into PCs?

a) IBM,

b) Novell,

c) Xerox Corporation.

4. Which company later used the results of this research?

a) IBM,

b) Apple Computers,

c) Novell.

5. Which company turned to Bill Gates to write their operating system?

a) IBM,

b) Apple Computers,

c) Digital Research.

Задание 7. Translate paragraphs 1 and 2 into Russian.

ВАРИАНТ 4
Задание 1. Укажите номера предложений, в которых окончание «-s» является показателем: a) множественного числа имени существительного; b) притяжательного падежа имени существительного; c) глагола в 3-м лице ед.числа Present Simple.

1. The main task facing our people now is to build up the country’s economy.

    2. She never listens to the advice which I give her.
    3. Some books may never be published in paper form, but may only be made available as part of public databases.
Задание 2. Укажите номера предложений, в которых указательные местоимения this, these, that, those  выступают как заместители ранее упомянутых существительных. Назовите эти существительные.
1. An important matter is that of raising the effectiveness of external economic relations

2. For the last generation, Silicon Valley and Tokyo have been working to design computers that are ever easier to use.
3. These control systems are more efficient  than those described in that journal.

Задание 3. Укажите номера предложений, в которых встречаются сравнительные конструкции, имеющие значение: a) такой же, … как;

b) не такой, … как; с) чем; d) чем … тем.
1. The world is in the midst of an electronic revolution at least as significant as the industrial revolution of the 19th century. 

2. Clipboard PCs  are not much bigger than an actual clipboard.
3. The bigger the mass, the bigger the weight of the body.

4. This is not such an interesting book as his last one.

Задание 4. Read the text. Then read the titles. Which of the following titles is the best?

1. Portable Computers.

2. Desktop Computers.

3. Clipboard Computers.

4. Mainframe Computers.

Задание 5.
Read the text again. Choose the best sentence from the list below to complete each gap.

1. For the last generation, Silicon Valley and Tokyo have been working to design computers that are ever easier to use. There is one thing, however, that has prevented the machines from becoming their user friendliest: you still have to input data with a keyboard, and that can require you to do a lot of typing and to memorize a lot of elaborate commands.


2. Enter the clipboard computer, a technology that has been in development for the last 20 years but took hold in the mass market only this year. Clipboard PCs –which, as their name suggests, are not much bigger than an actual clipboard — replace the keyboard with a liquid crystal display (LCD) screen and an electronic stylus. 1 ____.


3. There are two technologies at work in a clipboard PC: one allows raw data to get into the computer and the other allows the computer to figure out what that data means. The first technology relies principally on hardware and varies depending on the particular computer. In one system, marketed under the name GRID Pad, the computer’s LCD screen is covered by a sheet of glass with a transparent conductive coating. Voltages are sent across the glass in horizontal and vertical lines forming a fine grid; at any point on the grid, the voltage is slightly different. When the stylus — which is essentially a voltmeter — touches the screen, it informs the computer of the voltage at that point. 2 ____. The position of the stylus is monitored several hundred times a second, so as the stylus moves across the glass, whole strings of pixels are activated.


4. Making that writing comprehensible to the computer, however, requires the help of some powerful software. When the stylus is being used, the computer is programmed to look for moments when the tip does not touch the screen for a third of a second or more. 3____. The pixel positions of this fresh character are then passed on to the computer’s pattern recognition software, which instantly identifies the letter or number written.


5. The software does this by first cleaning up the character — smoothing out crooked lines and removing errant dots. 4 ____. When the computer finds the closest match, it encodes the character in memory and displays it on the screen as if it had been typed. 5 ____. To move to the next page, you flick the stylus at the bottom of the screen as if you’re flicking the page of a book.

a) The computer uses this information to determine where the stylus is and causes a liquid crystal pixel to appear at those coordinates.

b) The remaining lines and curves are then compared with a series of templates in the computer’s memory that represent hundreds of thousands of different versions of every letter in the English alphabet and all ten numerals.

c) Users input data by printing individual letters directly on the screen.

d) To delete a word, you simply draw a line through it.

e) Every time this happens the software assumes that one letter or number has been written.

Задание 6.
Choose the best answer to these questions according to the text.

How big is a clipboard PC?

a) It is smaller than an actual clipboard.

b) It is not much bigger than an actual desktop computer.

c) It is not much bigger than an actual clipboard.

1. How does the computer know when one letter or number is complete?

a) The software decides that one character or number is complete if the tip of the stylus is not in contact with the screen for more than half a second.

b) The computer is programmed to look for moments when the tip does not touch the screen for a third of a second or more.

c) The computer gives a user one second for each letter or number.

2. How can you delete a word after you have written it?

a) You must clean the screen with a special piece of cloth.

b) You must write a word ‘delete’ on the screen.

c) You draw a line through it.

3. How can you change the page?

a) You must write ‘next page’ on the screen.

b) You must draw a line at the top of the screen.

c) You must flick the stylus at the bottom of the screen.

5.
Does a clipboard computer have a keyboard?

a) On a clipboard, an electronic pen replaces the traditional keyboard.

b) A clipboard computer uses a keyboard instead of a stylus.

c) Every clipboard computer has a keyboard and a stylus.

Задание 7. Translate paragraph 3 into Russian.

ВАРИАНТ 5
Задание 1. Укажите номера предложений, в которых окончание «-s» является показателем: a) множественного числа имени существительного; b) притяжательного падежа имени существительного; c) глагола в 3-м лице ед. числа Present Simple.

1. The computer uses this information to determine where the stylus is.
2. The computer’s LCD screen is covered by a sheet of glass with a transparent conductive coating.

3. Users input data by printing individual letters directly on the screen.

Задание 2. Укажите номера предложений, в которых указательные местоимения this, these, that, those  выступают как заместители ранее упомянутых существительных. Назовите эти существительные.

1. A work generated by a computer may resemble that of a certain artist in both style and form.
2. The simplest materials are those which have only one kind of atoms.
3. The robots became so intelligent that they revolted.
Задание 3. Укажите номера предложений, в которых встречаются сравнительные конструкции, имеющие значение: a) такой же, … как;

b) не такой, … как; с) чем; d) чем … тем.

1. The new machines were smaller and less expensive than earler models.
2. The greater the number of free electrons in a substance, the better this substance conducts electricity.

3.There are several advantages in making computers as small as one can.
4. A bike isn’t as safe as a car.
Задание 4. 
Read the text. Then read the titles. Which of the following titles is the best?

1.
Robots and Their Masters.

2. 
Robots in Education.

3. 
Robots in Medicine.

4. 
Robots: Past, Present and Future.

Задание 5.
Read the text again. Choose the best sentence from the list below to complete each gap.

1. The word ‘robot’ was invented by the Czech playwright, Karel Čapek. It comes from the Czech word for ‘work’. In Čapek’s play RUR (Rossum’s Universal Robots), which came to London in 1921, the robots became so intelligent and so disillusioned with their human masters that they revolted. They destroyed the humans and created a new world inhabited only by robots. 1____.


2. In 1954, the American inventor George Devol began work that eventually led to the industrial robot as we know it today. 2____. Since then, many companies have entered the robotics market.


3. Between 1967 and 1969, researchers at the Stanford Research Institute in the United States developed a robot with wheels named Shakey. Shakey was fitted with bump detectors, a sonar range finder, and a TV camera. 3____. However, at the time, Shakey was thought to be a failure. This was because it could only be controlled by a separate mainframe computer, which sent its commands to the robot through a radio channel.


4. The next important step was the development of robots with legs. In 1967, the General Electric Corporation had developed a four- wheeled machine for the US Department of Defense. The machine carried a human operator who had to control each of the four legs. 4____.


5. Later devices were more successful – for example, a four-legged robot developed at the Tokyo Institute of Technology in 1980. This system combined a human controller with automatic processing of information about the terrain, right down to the foot movements needed to ensure smooth movement.


6. In 1983, a six-legged robot was developed by Odetics Incorporated, for commercial production. 5____. This machine could walk over obstacles and lift loads several times its own weight.


7. Meanwhile, research continues on machines that rely on one or two legs. In 1984, Marc Raibert developed one-legged hopping robots at Carnegie Mellon University in the USA.

a. His company, the Unimation Company, developed flexible industrial

  machines and began to market them in the early sixties.

b. This was an extremely difficult job for the driver, and the machine regularly became unbalanced and fell over.

c. A battery-powered model, Odex I, used a radio channel for leg control and a video link for conveying images.

d. All three helped Shakey to move freely and avoid obstacles.

e. This theme of ungrateful robots rebelling against their human creator is one that has been used by many science fiction writers.

Задание 6.
Choose the best answer to these questions according to the text.

1. Who invented the word ‘robot’?

a) American scientists,

b) Czech scientists,

c) the Czech playwright.

2. When did George Devol begin his work that led to the industrial robot?

a) in 1921,

b) in 1954,

c) in 1967.

3. Where was a robot with wheels named Shakey developed?

a) in the UK,

b) in the USA,

c) in Canada.

4. What corporation developed robots with legs?

a) the British Broadcasting Corporation,

b) Xerox Corporation,

c) the General Electric Corporation.

5. What kind of robot was developed by Odetics Incorporated?

a) a one — legged hopping robot,

b) a four — legged robot,

c) a six — legged robot.

Задание 7. Translate paragraphs 3 and 4 into Russian.
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Единственное число





The student’s translation


перевод студентов





VМножественное число





The students’ translation


переводы студентов;


the men’s book


книги мужчин





Притяжательный падеж употребляется�с именами существительными, обозначающими:





3) некоторые понятия: country, nature, world, earth, sun, moon, war и др.





2) промежуток времени, расстояние, название стран, городов, месяцев, времен года (winter, summer)





1) одушевленные предметы





A mile’s distance расстояние в одну милю; Scotland’s pollution население Шотландии





The country’s resources 


ресурсы страны





The scientist’s research


исследование ученого
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Much     много


Little      мало





Many    много


Few      мало





Исчисляемые существительные





Абстрактные понятия





Неисчисляемые существительные





Название веществ





одушевленные





неодушевленные





Much steel


Много стали





Little air


Мало воздуха





Much work


Много работы


Little work


Мало работы





Many factories


Много фабрик





Few buildings


Мало зданий





Many students


Много студентов





Few people


Мало людей





IT





ONE
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Усиление степеней сравнения прилагательных:





а) в положительной степени


a most difficult — (крайне) в высшей степени трудный 


ever so interesting — чрезвычайно интересный


only too glad — очень довольный





б) в сравнительной степени


much more advanced — значительно (гораздо) более передовые 


a great deal faster — гораздо быстрее


still easier — еще легче


an ever greater scope — значительно большой размах 


far better — намного лучше


(all) the more complicated — еще сложнее


no better — нисколько не лучше


not any clearer — ничуть не ясней





в) в превосходной степени


by far the best — значительно превосходящий


the nearest … possible ближайший … — какой только возможен


the cheapest … to be found — самый дешевый … какой только можно найти
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